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st TH =
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TR R e w500 7.80m X 13. 70m X 17 106. 86
1.80m X 13. 70m X 1 4 jif 24. 66
8.40m X 13. 70m X 14 jiF 115. 08
3.00m X 13. 70m X 14 Ff 41.10 287.70 nof
(30 T 00 31.80m X 13. 70m X 1 4 /Ff 435. 66 435.66| nf
H Py TEE TE X1 X247 14 14| Bt
EA IR A E 2 25.80m X 1 X 14 FF 25. 80
22.20m X 1 X 14 fif 22. 20
AR BIE M R 5 65.40m X 1X 14 65. 40 113.40, m
TEEAEE 7R E 2 25.80m X 0.90m X 1 # 23.22
22.20m X 0.90m X 14 Ff 19.98
AR BIE M R 5 65.40m X 0. 90m X 14 it 58. 86 102. 06| nf
e BT 7R E 2 25.80m X 1. 00m X 14 25. 80
22.20m X 1.00m X 14 Ff 22. 20
AR BIE M R 5 65.40m X 1. 00m X 14 it 65. 40 113.40| nf
BERE - S5/ E FAE 287.70nt 287.70
ERBEA Y 435. 66nd 435. 66 723.36| of
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S RESINE AXNON") 24 = 2 2| R
o RESINE 4NN 24 7 = 2 2| R
Bt -y Ok 0 R e 2 P = 2 2| r AR
ORI —EU G2 A ekt 24 i = 2 2| R
FELER ALY
RS F REA LY WA itk Ckig) | ) R0 0.25m X 3.00m X3X%1.12kg/m = 2.52kg/m
T Bz 0.60m X 15. 70kg/ nf = 9.42kg/m
#F 11. 94kg/m
(7.70m +8.70m) X 11. 94m = 195.82kg
WA iRtk Ohig) | ) 126205 0.15m X 3.00m X3X 1. 12kg/m = 1.5lkg/m
T Bz 0.40m X 15. 70kg/ nf = 6.28kg/m
& 7.79%g/m
(2.40m+3.60m) X7.79m = 46.75kg 242.57| kg
fRARER L (&) FHAZ TS = 242.57kg 242.57| kg
FRARRE Lo B (2 ) FHAZ TS = 242.57kg 242.57| kg
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4.32m X 4.05m X2

34.99

9.00m X 7.256m X2

130. 50

17.70m X 4.70m X1

83.19

248. 68




